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ODHMABRDELEXTEK
ERRMKRITBSMT B0 ERXBICSMLI-E
RIDBENEEI- 56 (400 %)
ZILDLTLM= 140 |ZEikiah o= 81 (579 %
(16.1 %) | REELNFFESTZ 0 (00 %
EOE 3 (21 %
RIDBENEFEI- 98 (180 %)
EBLELTE R 543 |ZEiciih otz 414 (762 %)
(623 %) | FREEMNFFEST 11 (20 %
EOE 20 (37 %
RIDBENEFEI- 45 (238 %)
T&tot= 189 |[ZE{tlEh o= 102 (540 %)
(217 | TFRRENEEST 33 (175 %)
EOE 9 (48 %
QBRBEREZDRSTAIIVAMIEADHNR
BEREXMBRIZEMT HA0] ERXMICSMLI-E
RIDBENEEI- 71 (522 %
ZILDLTLM= 136 |ZEikiah o= 52 (382 %)
(157 0| A RBENZE-T- 4 (29 %
EO%E 9 (66 %
RIDBENEEI- 118 (217 %)
EBLELTE R 543 | &1t ot= 393 (724 %)
(628 %) | FREMNEFEST- 23 (42 %)
EO%E 9 (1.7 %
RIDBENEEI- 26 (141 %)
T&to1= 185 |EfthEh o= 101 (546 %)
(214 %) | FRENEFEST- 51 (276 %
EO%E 7 (38 %
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